
Block:_______ Date:

AWM1O Ch. 41 Getting Started Assignment

1. Integers: Remember - subtracting a negative Integer is like adding its opposite
- when multiplying or dividing integers: same signs = positive answer

(+4)±(-7)= (-8)÷(+2)= (-9)—(-9)

(—3) — (+6) = (+6) + (—9) = (—7) .+ (+2) =

(—1) x (+9) = (—8) x (—6) = (+4) ÷ (—2) =

(±5) ÷ (—5) = (±4) — (—1) = (—6) x (±2) =

(—8) + (—6) (+6) ÷ (+3) = (±8) + (—6) =

(±9) — (±9) = (—5) + (—9) = (—9) ÷ (+3) =

(—6) ÷ (+3) = (+4) x (—8) = (+3) — (+9) =

(+3) + (+1) = (—7) — (+2) = (—1) x (±6) =

(—8) x (—7) = (+9) ÷ (—1) = (+5) + (±4) =

(—4) — (±2) = (—5) + (±8) = (—7) — (±7) =



1. Order ofOperations. Remember BEDMAS

-lOx(4+-14)= 21x(-45x-14)= 45-30x24

-32-42+25= 24--25-18= O÷(-39--11)=

28+(9+-49)= (-31+-12)x-1= (16-30)+-41=

(42x-34)÷-1 -2--1+11 3+(-48x37)

22-32+33= -16-17+40= (32x-48)x-42=

(48-3)--10 39x43x21 (-9x-9)x-16


